VYA VILLARTEC Mopens arperara: D 532 (MoTo6yp 2,58 cM3 0,68 kBT/0.92 n.c.)

\ ‘\\\.W.V“’h:,hv A\
FEU N\
S4 4 N\

AR
SR




VILLARTEC

Mopenb arperaTta: D 532 (MoTtob6yp 2,58 cm2 0,68 kB1/0.92 n.c.)

CHnHcoK 3amacHbBIX YacTen

Ne Ilo3. |ApTrukya neramm HaumenoBanmue Koa-Bo
1 80700128-01  [Bunr 2
2 80700089-02  |[Iaiiba 2
3 80100059-02  |Mydra cuereHns 1
4 80700105-01 [[Iaii6a 2
5 80700026-15  [Bunar M5x20 10
6 80201881-02 | dednexrop
7 80700185-01  |IlTudr xaprepa 4x10
8 80700052-11  [T"aiika M8
9 80101730-01 |MaxoBuk
10 80700026-24  [Bunar M5x30
11 80200452-14  |Kaprep 1/2 nepennss

1

2

1

1

4

1
12 80102174-09  |Mopayiib 3a:KUraHus 1
13 80700179-01 [Campauk TC15x30x7 1
14 80700205-03  |[Tommmwmuuk 6202 2
15 80100318-01  (KoneHuaTklii Ba 1
16 80700084-05 |Imonka 3x13x5 1
17 80700112-02  |MrompuaTemi nogmmmauk 10x13x15,5 1
18 80700175-02  |Canmpaux TC12x22x7 1
19 80700186-01  |IlTudr xaprepa 5x10 2
20 80400054-01 | YwioTrHeHue Kaprepa 1
21 80201880-02  |Kaprep 1/2 3annss 1
22 80200581-01  |CromnopHoe KOJIBLIO MOPIIIHS 2
23 80200482-01  |IlopmieHp 1
24 80200533-01  |ITopmeBoi nasnerr 1
25 80200483-02 | KommnpecCcHOHHOE KOJbIIO 2
26 80400053-01 | YuioTHeHre 1UIMHIpA |
27 80201218-03  |lwmHAp 1
28 80400557-01 | YIuioTHeHHE TIIyIINATENS 1
29 80100339-19  |['mymwrens 1
30 n/a HE TTIOCTABJISETCSA 1
31 80700028-02  |Bunr M5x14 5
32 80700136-03  |IITaiiba 6 2
33 80700046-15  [Buar M6x60 2
34 80302916-04 |Kppimka roymmress 1
35 80700398-01 [Camope3 ST5.5x14 1
36 80302225-11 |BepxHsist Kpblka 1
37 80700015-04 [Taiika M5 2
38 80302918-05  |Kpsrmika mammHapa 1
39 80700028-01  |Buar M5x8 5




v,LLARTEc Mopgenb arperarta: D 532 (MoT1o6yp 2,58 cm3 0,68 kB1/0.92 n.c.)

40 80700074-02  |Camope3 ST3x9 2
41 80400038-01  |3armymika pe3rHOBast 1
42 80100068-05 |Ceua 3a>xuranus 1
43 80201871-02 | dednexTop BO3TyIIHbII 1
44 80700026-18  |Bunar M5x25 8
45 80400164-01 |YmioTHeHHE BIyCKHOTO TIaTpyOKa 1
46 80302235-01 [ITaTpyOoK BIyCKHOI 1
47 80400148-01 |YmiorHenue kapOropaTopa 1
48 80101990-03 |KapbGropatop |
49 80100053-02 | XpamoBuK cTaprepa ¢ cobauyKaMu 1
50 80302233-14  |Kopnyc 1
51 80101802-08 |Craprep B cObope 1
52 80101801-06 |Kopmyc Bo3mymmHoro gpuibTpa B cOope 1
52,1 80300024-13  |Pbluar BO3yIIHOM 3aCJIOHKH 1
52,2 80302229-01 |Kopmyc Bo3mymiHOro pwibTpa 1
52,3 80300023-01  |IIoBOpOTHBIH phluar BO3YIIHON 3aCJIOHKH 1
524 80700075-02  |Camope3 ST4.2x12 1
53 80800013-01  |IImanr TOMIMBHBIN 0,1
54 80100029-01  |ITpaitmep 1
55 80200060-02  |KpommmreiH Bo3a/huwibTpa 1
56 80700035-02  |Buar M5x50 2
57 80400039-03 | DwibTp npeIBAPUTEIIbHBIN 1
58 80400040-01  |Bo3mymHsiii puibTp 1
59 80302228-06  |Kpslmka BO3AyIIHOTO PUIbTpa |
60 80300021-09  |BuHT KpBIIIKK BO3AYIIHOTO (IUILTPA 1
61 80101803-01 | TormmBHbIM Oak B cOOpe 1




VYA VILLARTEC Mopens arperara: D 532 (MoTo6yp 2,58 cM3 0,68 kBT/0.92 n.c.)




VILLARTEC

Mopenb arperara: D 532 (MoTobyp 2,58 cm3 0,68 kB1/0.92 n.c.)

Cnucok 3amacHbIX Yacreu
Ne Ilo3. |ApTukya neraum HaumenoBanmue Koa-Bo
8 80202272-01 |PykosiTka sieBass 22 2
9 80400660-01 |PykosiTka pe3uHOBas 1
10 80202278-01  [ITpyxuHa 1
11 80202276-01 |OcnHoBanue 1
12 80700441-01  [Bunar M8x50 1
13 80400664-01 |AMopTuzaTop pe3vHOBBII 1
14 80202314-01 |Kombiio amopTu3aTopa 2
15 80700048-15  |Bunr M6x30 1
16 80101693-02 |Kopobxka mepemxau 1
17 80800014-03  |Pybamika Tpoca 1
18 80102150-01 | Tpoc raza 2
19 80102149-01 [Kabenn 2
20 80300319-01 [Xomyr 1
21 80102147-06 |PykosiTka raza B coope 2
21,1 80700439-01 [I"aiika M4 1
212 80302920-01 |Kpplka pyKOSITKH HIKHSS 1
21,3 80700440-01 |CrormopHoe KOJIbIIO 1
214 80302919-01  |Kppimka pyKoITKHA BEpXHsS 1
21,5 80302921-04 |Ppruar raza 1
21,6 80102149-01 |Bwxmouartens 2
21,7 80202274-01  |IIpyxuHa 1
21,8 80400668-01 |BoponenpoHuiiaemasi 3aluTa BbIKIFOUATENS 1
219 80202275-01  |LlTudpr 1
21,1 80700438-01  |Bunr M4x14 1
22 80202273-01 |PyxkosTka mpaBas 1




